CSE 326 Reading Quiz

Name: ______________________ Score: ____

Friday 7/21/00

1. Use cross-outs to show the changes made as Insertion Sort operates on the following array of numbers:

       10   39   -2   -6    9    22    41   5   

2. Shell Sort is basically the application of _______________ numerous times.

 Pick from: selection sort, bubble sort, quicksort, insertion sort, radix sort, bucket sort, merge sort.

3. From the same list of sorts above, name one that is not considered a "comparison-based" sort: ______________

4.  Suppose Shell Sort is run on the following array of numbers, with the current "gap" being 3.  What subset of numbers is processed (sorted) first?  [More than one answer will be accepted, as long as the gap concept is correct.] [Footnote: this question was thrown out.]

10   39   -2   -6   0   1   900  29    22    41   5   32    8

5.  List all the "inversions" in the following array:


4   90   3   5    7    6

6. Theorem 7.2: "Any algorithm that sorts by exchanging adjacent elements requires ___(N2) times on average."  The missing symbol is (pick one): O, o, Ω, Θ.

7. T/F For all practical purposes, Heapsort cannot be programmed without using an extra array.

8. T/F For all practical purposes, Mergesort cannot be programmed without using an extra array.

9. Mergesort is an example of (pick one)


Division by zero


Divide and conquer


Polynomial division


Relational division operator

